Susol

¢ HZ ARS & BIEA| AISESM & oAl FOIZETIA
AEGH0 FEAI2.
« 0l Al2 E2ME FIE MK £E B HAXIH MEGHAI2.

@
M)

o
ilo
10b

OIFIALO| 0|

*FE BHAZAL TR B2, HAS #51] M0l oA 0|, 98 S8
X 92 & SHIEH AIZ5I0 TUAL.
OHM| BB SIHE! LHZO0I7I 20 BIEAI K13 F&AIR.
/N 218 INAES Sietst Z20 A EE SAS 2N ELIC
/N F00: TINAES 2ietst 2201 JHHR AGHS 2L SX aas

2H ELIC

HEad9 XN
INSTRUCTION

* Be sure to read the manual and warning message for safety
before using products,

* This manual should be given to the person who actually
uses the products and is responsible for their maintenance,

SAFETY PRECAUTIONS

* Before installation, wiring, operation, maintenance and inspection
of the device, be sure to read the safety precautions carefully and
follow the message to ensure proper operations,

&DANGER : Offending against the message will result in
death or serious injury.

&CAUTION: Offending against the message will result in
minor injury or physical damage.

o s
A% 8

1. HIZQ &X & BIEAl &2 XIEDIE OFF AlZ F&AI2,

&7 & ZFA0| 21201 USLICE

EXl o= 20l EE0HK RTE FAGHH FEA2.

2%, B2t Akl 212101 ELICE

n

/N\DANGER

1. Turn off the upstream circuit breaker before installation or
service to prevent electric shocks and burns due to short
circuit,

2.Do not touch any live naked terminals,

It makes an electric shock,

ANF 9

1. RIZS EXI5D| & 0| AIES BIEAl 10 80 [i2t &XI5H04

AN

ESSIN

 ERE GXIZ QIS 2SR = AMIJF 24E 201 ASLICH

REDI #X & 25 SAETHEIISARIIE #5101 FEA2.

8IS JIS 22|, AN S| AIZEI= £XIE LIS F&EAI2.

2N, 8, B2l ST, @SA0| ZAE 2#0] ASLICH

# KSC 8321 RIED| BA AISAHH

1) AIB2E : -5~40C 2) MHST - 45-85% 3) E1l : 2000mOIGH

4) 0|8t AE & 32, MTEt 25|, JIE, o)), BiXl, HAI Geas,
JHM Gas S01 842 A

- HIS2| HZXY 2 HAHMSN L= M0 S50 FEAI

I =
RFRL 9 HANS)} UK QOH HEX = DRO| 2ol

=

]

[

0

o~

El A
=T

(=3

Bl

UBLICH
. EXICl HIZE =D BE0HH NIE = SN2l 212101 £I92 M2 &
32 ST5101 EIXIE 2461 D60 FHAI2
. B RIZ Al 8% THIE ZEGITE X161 A2

A7t et A} st 2101 USLICE
L HISS LEIGH0] ALRAL EEXEALOIO 2 HIZIE FIEGI0 F&AI
2. 2 HI2I00 8BS M= RER E= THC =2 20 2
THOILH 4 HIOIZZ 2L EHOIE HHEST THNE L6
FUAIR A7 R A EaE 218101 USLICE
. EEXH A0 224 HIZIONE #5101 FEAIL.

A2 El2t AT} 2raist (8101 ASLICH
LRI D SAGH04 XIS KIS 22 BIEA] (I2IE RISt = siSS
SRI510 FEAI2

2 E= S st = ASLICH
10. 284 & &R Al IIEEIRI SEE FOI510d FHAIR
11.RIZ HII Al HDIS 22180 T2t H2I6H0] FEAIR
12 220I5 Bt & THIE XD BRI 28 H=6IR1 201 FaAI2.

Al 31 20| JRI01 EILICH

13. GIJIEIXI 842 THEE &6HKI 20t FEAIR.

o

o

~

©

©

/N\CAUTION

1. Before installation, be sure to read the manual carefully to
ensure proper operation,

2.Installation, maintenance and inspection of the circuit
breaker should be performed by qualified engineers
having special knowledge,

3.Do not install the circuit breaker in place of environment
with shock, high temperature, humidity, dust, corrosive
gases, excessive vibration, etc. to prevent fire accidents
and malfunction of the device,
1) Ambient temperature : -5~40°C
2) Humidity : 45~85%
3) Altitude : less than 2000m

4.Use the breaker in a range of the rated voltage and
current shown on the name plate,
Or it may cause malfunction.

5.Please tighten the terminal screw in proper torque to
prevent overheating,

6.Each crimp terminal or conductor pole should be
connected parallel,

7.When mounting more than one breaker side by side, fit
interphase barriers between terminals, If the breaker has
no interphase barrier, insulate the exposed part of the
terminals or conductors with insulation sleeves or tape
or attach terminal covers, (sold separately)

8.Be sure to fit interphase barriers between terminals,

9. When the circuit breaker trips of itself, remove the cause
and turn the handle on.
Or it may lead to the fire accident,

10.Be careful not to be damaged by accidents during
transportation or installation,

11, When the device become useless, it should be dispose of
them as an industrial waste,

12.Do not connect aluminum terminals and conductors to the
breaker directly,
Or it may cause corrosion and overheating.

13. Do not modify the device unless it is permitted,

R\

B

LS i1 8 X}
LS MCCB

1 2ea(M4X75)
: 2ea(M4X75)
: 4ea (M4 X75)

. 4ea(M8X20)
. 6ea(M8x20)
: 8ea(M8Xx20)




LS Hj&18 Xt
LS MCCB

294
INSTRUCTION

Susol

Trip unit

FMU,FTU : Thermal-magnetic

Im=1600A  40°C

3P

3P

Im=1600A  40°C

2 Ro
E &%
Q AN
= 440
N w9
> g9
LA S
= oA =
SO Sx =
- 88”
(7] LX..m.
3 HEE
T o
vm 3
ﬁ m
i)
©
()
T
o
=0
=W
ola
o
| —
5
o]
o
N
o~
S0
Q382
| © =z
So 3
4\9I_W
._.mO/
T oo S
5 a4 X Q
Kd oz=
whmgy FUL €
<]z
=
i
<
o<
r
EE
]
w u
EE
oo
<
N

Max.80kgf-cm

7956 1171 001



	ÂÊ 1
	ÂÊ 2

